Chapter 14: Leveraged Buyout Valuation and Modeling Basics
Chapter Summary and Learning Objectives
The focus in Chapter 14 is on how to value highly leveraged transactions using common methodologies. This chapter concludes with a discussion of how investors evaluate LBO investment opportunities and typical formats used in building LBO financial models. Such models are used to determine the maximum amount of leverage that can be supported by the target firm consistent with the investor’s desired financial returns.   

Chapter 14 Learning Objectives: Providing students with an understanding of

1.   Alternative approaches to valuing LBOs; 

2.   Cost of capital approach to LBO valuation;

3.   Adjusted present value approach to LBO valuation
Adjusted present value approach LBO valuation;

4.   The advantages and disadvantages of the various approaches to valuing LBOs; and 
5.   The basics of LBO modeling techniques
Learning Objective 1: Alternative approaches to valuing LBOs
· An LBO can be valued from the perspective of common equity investors only or all those who supply funds, including common and preferred investors and lenders. Conventional capital budgeting procedures may be used to evaluate the LBO.
· There are two common methods for valuing leveraged buyouts. The cost of capital method attempts to adjust future cash flows for changes in the cost of capital as the firm reduces its outstanding debt. The second method, adjusted present value, sums the value of the firm without debt plus the value of future tax savings resulting from the tax-deductibility of interest.
· The transaction makes sense from the viewpoint of all investors if the present value (PV) of the cash flows to the firm (PVFCFF) or enterprise value, discounted at the weighted-average cost of capital, equals or exceeds the total investment consisting of debt, common equity, and preferred equity (ID + E + PFD) required to buy the outstanding shares of the target company:
· Decision rules: Determining if a deal makes sense: Using capital budgeting analysis

--From standpoint of all investors, if PVFCFF ( ID+E+PFD,

         where D, E, & PFD are debt, equity and preferred stock, respectively

      --From standpoint of equity investors, if PVFCFE ( IE
      --Note that it is possible for the deal to make sense to equity investors but not to other 

         investors such as pre-LBO debt and preferred stockholders. 

Learning Objective 2: Cost of capital approach to LBO valuation
· Valuation using the cost of capital method involves a five-step procedure;

--Step 1: Projecting annual cash flows (including any tax savings)
--Step 2: Projecting debt-to-equity ratios

--Step 3: Calculate terminal value

--Step 4: Adjust the discount rate to reflect changing risk and discount cash flows 

               and terminal value
--Step 5: Determine if NPV of cash flows is greater than or equal to zero.

Learning Objective 3: Adjusted present value approach to LBO valuation
· Alternatively, the adjusted present value method may be employed.  This entails the  

    following:

--Step 1: Projecting annual cash flows and interest tax savings

--Step 2: Value target without tax savings

--Step 3: Estimate PV of tax savings

--Step 4: Add PV of firm without debt to PV of tax savings

--Step 5: Determine if NPV of cash flows is greater than or equal to zero.
Learning Objective 4: Advantages and disadvantages of various approaches to valuing LBOs
· While computationally simpler than the cost of capital method, the adjusted present value method suggest that NPV can always be increased by taking on additional leverage, thereby ignoring the potential for bankruptcy. 

· APV ignores the effect of leverage on the discount rates. Investors are able to realize their return only after they have been able to cash out of the business

Learning Objective 5: The basics of LBO modeling techniques
· An LBO model is used to determine what a firm is worth in a highly leveraged transaction. 
· It is applied when there is the potential for a financial buyer or sponsor to acquire the business. 
· The model helps define the amount of debt a firm can support given its assets and cash flows. Investment bankers frequently employ such analyses in addition to discounted cash flow and relative valuation methods in valuing businesses they are attempting to sell. 
· The objective is to provide financial buyers with a leveraged buyout opportunity that offers a financial return in excess of their desired rate of return, while allowing the target firm to retain sufficient financial flexibility to meet potential future operating challenges.
· LBO analyses are similar to DCF valuations in that they require projected cash flows, terminal values, present values, and discount rates.
· However, the DCF analysis solves for the present value of the firm, while the LBO analysis solves for the discount rate or internal rate of return (IRR). 
· While analysts differ on the measure of cash flow to use in evaluating LBO opportunities, EBITDA is commonly used despite its significant shortcomings. The following equations illustrate the linkages between the target firm’s purchase price and industry multiples as well as the firm’s purchase price and borrowing capacity and the financial sponsor’s equity contribution.

PPTF = (EV/EBITDA) × EBITDATF 
    
PPTF = (DTF + ETF)       

where 

DTF = net debt (i.e., total debt less cash and marketable securities held by the target firm)

ETF = financial sponsor’s equity contribution to the target firm’s purchase price

PPTF = estimated purchase price of the target firm or enterprise value
EBITDATF = target firm earnings before interest, taxes, depreciation, and amortization            

EV/EBITDA = recent comparable LBO transaction enterprise value to EBITDA multiple

· LBO models commonly involve a five-step process: 

-- Step 1 entails projecting a firm’s future cash flows. 
-- Step 2 involves estimating the maximum borrowing capacity of the firm.
-- Step 3 entails determining the purchase price necessary to buy out the target firm’s 
    shareholders. 
-- Step 4 requires estimating the initial equity contribution to be made by the financial 
    sponsor. 
-- Step 5 entails calculating the IRR on the financial sponsor’s initial equity investment. 
   The deal would make sense to the financial sponsor if the resulting IRR is equal to or
    greater than their target IRR. 
Chapter 14 Study Test

True/False Questions:

1.
An LBO can be valued from the perspective of common equity investors only or all those who supply funds, including common and preferred investors and lenders. True or False 
2.
It is impossible for a leveraged buyout to make sense to common equity investors but not to other investors, such as pre-LBO debt holders and preferred stockholders True or False 
3.
As long as the debt-to-equity ratio is expected to vary over time, applying conventional capital budgeting techniques that discount future cash flows with a constant weighted average cost of capital is appropriate. True or False 
4.
In applying the adjusted present value approach to valuing a leveraged buyout, the analyst must project free cash flows and adjust the discount rate to reflect changes in the capital structure. True or False 
5.
As the LBO's extremely high debt level is reduced, the cost of equity needs to be adjusted to reflect the decline in risk, as measured by the firm's unlevered beta. True or False 
6.
In applying the adjusted present value method, the firm's cost of equity changes over time. True or False 
7.
The LBO deal makes sense to common equity investors if the present value of free cash flow to equity exceeds the value of the equity investment in the deal. True or False    
8.
With the adjusted present value method, the total value of the firm is the present value of the firm's free cash flows to equity investors plus the present value of future tax savings discounted at the firm's unlevered cost of equity. True or False 
9.
For the APV method to be applicable in highly leveraged transactions, the analyst needs to introduce the costs of financial distress (i.e., a firm’s inability to pay interest and principal on its debt on a timely basis). True or False 
10.
Failure to include an estimate of the cost and probability of financial distress is likely to result in an underestimate of the value of the firm using the APV method. True or False 
11.
In applying the APV model, the WACC is estimated using the COE and after-tax cost of debt and the proportions of debt and equity that make up the firm's capital structure in the final year of the period during which the capital structure is changing. True or False 
12.
To determine the total value of the firm using the APV method, add the present value of the firm's cash flows to equity, interest tax savings, and terminal value discounted at the firm's unlevered cost of equity. Also, add the present value of the expected cost of financial distress True or False    
13.
Although somewhat more complex than the adjusted present value method, the cost of capital method does not adjust for the changing level of risk over time, as the LBO reduces its leverage over time. True or False   
14.
The APV method is consistently more accurate than the cost of capital method. True or False  
15.
An LBO model is used to determine what a firm is worth in a highly leveraged transaction and is applied when there is the potential for a financial buyer or sponsor to acquire the business. True or False
Multiple Choice:

16.

All of the following are true of an LBO analysis except for which of the following: 
a. The LBO analysis requires the determination of whether there is sufficient future cash flow to operate the target firm while satisfying debt service requirements. 
b. Financial sponsors rarely attempt to determine the maximum borrowing capacity of a target firm. 

c. Financial sponsors increase their internal rate of return by reducing their equity contribution.

d. Borrowing capacity is defined as the amount of debt a firm can borrow without materially increasing its cost of borrowing or violating loan covenants on existing debt, while maintaining the ability to engage in future borrowing to satisfy unexpected liquidity requirements. 
17. Which of the following steps are usually employed in evaluating the attractiveness of a firm’s potential as a potential LBO target?  
a. Cash flow projections
b. Determining the target firm’s maximum borrowing capacity
c. Estimating the financial sponsor’s required equity contribution
d. All of the above
18.
Which of the following is not included in calculating the adjusted present value method?   
a. The present value of the firm including debt
b. When the financial sponsor expects to exit the LBO
c. Annual cash flows to equity investors
d. Present value of tax savings
19.
Which of the following is not true of the cost of capital method?     
a. Annual cash flows, including all financing considerations and tax savings, are projected until the financial sponsor intends to exit the business.
b. The terminal value is discounted at the firm’s cost of equity.
c. The discount rate is adjusted as the firm’s outstanding debt is reduced.
d. Annual debt to equity ratios must be projected.

20. Which of the following is not true about both the adjusted present value and the cost of capital methods of valuing LBOs?  
a. Both adjust the discount rate to reflect declining risk as the firm reduces its outstanding debt.
b. Both require projections of cash flows.
c. Neither considers the effects of tax savings on valuation.
d. A and C only.
Answers to Test Questions

	True/False
	1.   True
2.   False
3.   False
4.   False
5.   False
6.   False
7.   True
8.   True
9.   True

10. False
11. True
12. False
13. False
14. False
15. True

	Multiple Choice
	16.  B
17.  D
18.  A
19.  B
20.  D
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